
 

 

Current 30’ Min Setback 
Proposed 10’ Min Setback 

Current 30’ Min Setback 

Proposed 10’ Min Setback 

Current Non-Conforming = 9 /12 

Non-Conforming w/ Proposal = 1/12 

 



 

 

Current 30’ Min Setback 

Current 30’ Min Setback 

Proposed 10’ Min Setback 

Current Non-Conforming = 11  Non-Conforming w/ Proposal = 3 

 



 

Above: Example of development pattern permitted under current setbacks 

Below: Examples of form that would be permissible under proposal that would not be allowed under current requirements 



 



 



 



 


